27/Mar/2012 Daily solar radiation

25.612 MJ/(m’- day)

7115 kWh/(m*-day)

28/Mar/2012 Daily solar radiation

25245 MJ/(m’-day) 7.013 kWh/(m*- day)
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29/Mar/2012 Daily solar radiation

25.263 MJ/(m’- day)

7.017 kWh/(m*-day)

30/Mar/2012 Daily solar radiation

25466 MJ/(m’- day)

7.074 kWh/(m*-day)
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31/Mar/2012 Daily solar radiation 24.816 Mj/ (mz_ day) 6.893 kWh/ (mz_ day)
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01/Apr/2012 Daily solar radiation

24.265 MJ/(m’- day)

6.740 kWh/(m*-day)

02/Apr/2012 Daily solar radiation

25251 MJ/(m’-day)

7.014 kWh/(m’-day)

Global solar radiation [W/m?]
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03/Apr/2012 Daily solar radiation

20475 MJ/(m’- day)

5.688 kWh/(m*-day)

04/Apr/2012 Daily solar radiation

26188 MJ/(m’- day)

7.275 kWh/(m>+day)
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